(B) BRESSER (%

Pl am ) — .
MO TORS KIT
ASSEMBLING INSTRUCTION

£ %
STNA\ARS

NSTRONOMYY




This document describe how to install the motor kit on a Exos2 mount
and how to connect them to the Nebula GoTo System controller.

The procedures for the softwares settings and usage are reported in the Nebula GoTo System manual. A careful
reading of this manual will enable the use of the mount safely and with the maximum satisfaction.

The kit design and its configuration could be subject to modifications, without prior notification, based upon
designer’s improvements and the requests, if applicable, by the mount users.

Packing Content

The Nebula Go To System comes in a box including the controller box, the keypad, the RA and DEC motors with
all the accessory required for the assembling on compatible mounts. Below is shown the package content with the
corresponding item list

Component List

[ Nebula GoTo System Controller ° Keypad connecting cable

o Control Keypad ] RA motor cable = 80 cm length

° RA / DEC motors ° DEC motors cable = 115 cm length

o RA / DEC pulleys ] Power supply

o RA / DEC timing belts ° M6 x 16 DEC motor fixing screw
] M6 x 40 RA motor fixing screw

NESULAN

SOTO SYSTE=M




2 Assembling instuctions

Take out the two motors from the packaging and prepare them with the corresponding fixing screws: the RA
motor assembling require the longer screw (M6x40 mm) while the DEC motor require the shorter (M6x16).

A comfortable assembling operation is accomplished with a mount as free as possible. Before to proceed with the
below described operations is suggested to remove the counterweight, the counterweight bar, and the axis

movement knobs, leaving the mount with the RA and DEC axis pinions free, ready for the motors assembling, as
shown below.




RA motor assembling

Step 1:
With the help of a M5 key insert the longer M6x35 screw from the mount rear bottom

Step 2:
Fix the motor screwing the bolt into the lower thread available on the RA motor positioned with
the cable connector toward the ground and the motor pulley side by side with the RA axis pinion.

. —




RA pulley and timing belt assembling

Step 1:

The pulleys comes with a fixing screw grain, The correct installation is accomplished positioning
the screw grain matching with the RA pinion plane side. The pulley must be inserted together with
the timing belt as shown in the picture..

Step 2:
Tight the screw grain on the plain to allow the pulley firm fixing avoiding motion slip.




DEC motor assembling

Step 1:
The DEC motor assembling point is available on the mount telescope saddle. The motor can be
fixed with the M6x16 bolt.

Step 2:

The pulleys comes with a fixing screw grain, The correct installation is accomplished positioning
the screw grain matching with the DEC pinion plane side.

The pulley must be inserted together with the timing belt as shown in the picture..




Timing Belt fine tuning

After the motor installation it is possible that the timing belts tension may require an adjustment.
This tuning can be accomplished in two way
1. Loosening the motor fixing bolt
Slightly loosening the motor fixing bolt and moving the motor itself along timing belt axis,
2. Loosening the four screws that fix the motoron the plastic protective carter
Slightly loosening the four screws that fix the motor on the plastic protective carter and
moving the motor itself along timing belt axis




Motor cable connecting

The kit comes with two cables with different length:
The longer cable is for the DEC (115 cm), the shorter cable is for the RA (80 cm).
The reason for the different length is to avoid cable strething during the DEC rotation.

RA

motor \A

cable










Service

DEJAT JCH BE|

Bei Fragen zum Produkt und eventuellen
Reklamationen nehmen Sie bitte zunachst mit
dem Service-Center Kontakt auf, vorzugsweise
per E-Mail.

E-Mail: service@bresser.de
Telefon*: +4928728074210

BRESSER GmbH
Kundenservice
Gutenbergstr. 2
46414 Rhede
Deutschland

*Lokale Rufnummer in Deutschland (Die Hohe der Gebuhren je
Telefonat ist abhangig vom Tarif Ihres Telefonanbieters); Anrufe aus
dem Ausland sind mit héheren Kosten verbunden.

Please contact the service centre first for any
questions regarding the product or claims,
preferably by e-mail.

E-Mail: service@bresseruk.com
Telephone*: +441342837098

BRESSER UK Ltd.

Suite 3G, Eden House
Enterprise Way
Edenbridge, Kent TN8 6HF
Great Britain

*Number charged at local rates in the UK (the amount you will
be charged per phone call will depend on the tariff of your phone
provider); calls from abroad will involve higher costs.

Si vous avez des questions concernant ce produit
ou en cas de réclamations, veuillez prendre
contact avec notre centre de services (de
préférence via e-mail).

E-Mail: sav@bresser.fr
Téléphone*: 00 800 6343 7000

BRESSER France SARL

Pble d'Activités de Nicopolis
314 Avenue des Chénes Verts
83170 Brignoles

France

*Prix d'un appel local depuis la France ou Belgique

[ 3

Als u met betrekking tot het product vragen

of eventuele klachten heeft kunt u contact
opnemen met het service centrum (bij voorkeur
per e-mail).

E-Mail: info@bresserbenelux.nl
Telefoon®*: +31528232476

BRESSER Benelux
Smirnoffstraat 8
7903 AX Hoogeveen
The Netherlands

*Het telefoonnummer wordt in het Nederland tegen lokaal tarief

in rekening gebracht. Het bedrag dat u per gesprek in rekening
gebracht zal worden, is afhankelijk van het tarief van uw telefoon
provider; gesprekken vanuit het buitenland zullen hogere kosten met
zich meebrengen.

ES|PT

Si desea formular alguna pregunta sobre el
producto o alguna eventual reclamacioén, le
rogamos que se ponga en contacto con el centro
de servicio técnico (de preferencia por e-mail).

E-Mail: servicio.iberia@bresser-iberia.es
Teléfono*: +34 91 67972 69

BRESSER Iberia SLU

c/Valdemorillo,1 Nave B

P.I. Ventorro del Cano

28925 Alcorcén Madrid

Espafia

*Namero local de Espafia (el importe de cada llamada telefénica

dependen de las tarifas de los distribuidores); Las llamadas des del
extranjero estan ligadas a costes suplementarios..



Bresser GmbH
Gutenbergstral3e 2
46414 Rhede - Germany

www.bresser.de

f1 B O @BresserEurope

(B BRESSER

Bresser UK Ltd.

Suite 3G, Eden House
Enterprise Way, Edenbridge,
Kent TN8 6HF, Great Britain



	This document describe how to install the motor kit on a Exos2 mount and how to connect them to the Nebula GoTo System controller.
	Packing Content
	2 Assembling instuctions
	RA motor assembling
	RA pulley and timing belt assembling

	DEC motor assembling
	Motor cable connecting
	Rückseiten.pdf
	1. Introduction
	1.1 Nebula Go To System First Web App access methods
	1.2 Quick Start

	2. The Nebula Go To System Controller
	2.1. Use of the Nebula Go To System Handcontroller
	2.2. Use of the Nebula Go To System WebApp (SGWA)

	3. Telescope Operations with the Nebula Go To System
	3.1. Smart Device Direct Operations
	3.1.1  Smart Device Direct Operations with SkySafari 6 Pro and 7 Pro.
	3.1.2  Smart Device Direct Operations with kStars lite.

	3.2. Computer Direct Operations
	3.2.1. How to establish a Remote desktop connection via VNC
	This modality allow the full control of the setup (mount, camer etc.) without the needs of any other external device.
	By default, on the Nebula Go To System, is already installed the VNC server, so, in order to establish the connection from a remote device such as a laptop or a PC, it must be downloaded and installed the VNC viewer.
	3.2.2. KStars, EKOS
	3.2.3. Telescope Operation

	3.3. Computer Remote Operations.
	3.3.1 Use of CDC from a computers
	3.3.2 Connection to Nebula Go To System of Stellarium residing on an external computer

	3.4 Connecting the Nebula GoTo System to external astrophotography software.
	3.4.1 Accessing the ASCOM Chooser from several applications
	3.4.2.  Choosing the Nebula Go To System driver



	Leere Seite
	Leere Seite



